Raw OCDB in MC: T0

Alla Maevskaya for TO team
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Anchor run 154483 (1 chunk)
with raw OCDB

sim.C
Nevents = 500;

simulator.SetDefaultStorage("raw://");
simulator.SetRunNumber(154483);
simulator.SetRunQA("T0:ALL") ;

rec.C

AliCDBManager * man = AliCDBManager::Instance();
man->SetDefaultStorage("raw://");
reco.SetRunQA("TO0:ALL") ;



Run 154483 reality and simulation

[ (TOA-TOC)/2 corrected by SPD vertex

16

14

12

10

a

[+
4
2
o

_]—1II|III|III|III|III|III|III|III|I

ETiries Z66
Mean o.01885
RMS 01328
%2 i madt
Prob 05898
Constant
Mean 001809 = 00431
Signna 005866 + 000403

| ™)

2763 1 30

135.28 + 1.29

bl Ml

l
.

ANESDTZERO.fTOamplitude I

1
ns

(TDA-TOC)/2 corrected by SPD vertex

wlipliciiy hESDResolulicn

Fric 158

htemip

Meaan 1.391
RMS 1. 126

ANESDTZERO.fTOamplitude

Entries 15000

a

10 T2

ESDTZERO. fTOamplitude

Riladil=lh s

O.OFT18%

31757 36

O 6268

1515 158

-0, 05184 = D001 TIT
002197 + 0001587

htemp
Entries 12000

-lIII|II | IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

Jr—

Meaamn 1.591
RMS 1.058

AJIESDTZERO.fTlamplitude




[ ] 1

I

I | I 355

Conclusions

\ RAW OCDB can be used for TO
\ simulation
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Back-up slide

Simulation:

resolution assumed 50ps

efficiency assumed 100%

No L1 jitter, noise ... were simulated ; not all ITS support material
included

Each PMT resolution depend on amplitude:
70 ps for 0.5MIP to 25ps 3 MIPs
Each PMT efficiency for amplitudes below 0.7 MIP less 100%



